EBRAZA / Components
No. Z# / Part name #= / Pcs # B / Material £ REME / Color-Finish
1 IL—L 4 TILERH AT A6063S-T5 DIWIN=F I, TZVIT LIk
Frame Extruded aluminium A6063S-T5 Silver , Black = Anodized
2 J—F—Javy 4 ABS#iE UL94HB SANTL—, TS5y
Corner block ABS UL94HB Light gray , Black
3 J—7)—3Fv 7 / Blind plug 8 ISAY / TPE SA4kJL—, 75v% / Light gray , Black
4 INAAFH STV 1 7 LR A1100P DILIN=T LI, TSV - BE
Slide panel Aluminium A1100P Silver * Anodized , Black * Painted
5 RLIEH/ AR 1 7ILEHR A1100P DIIIN=TIRAL, TS5y - T
Screwed panel Aluminium A1100P Silver * Anodized , Black * Painted
6 HATE R (X M4 x 15) 16 % =f@yRi—k
Screw (Pan head M4 — 15) Steel Trivalent chromate
7 BATER (FE{FHM M3 x 5) 8 &% ZuTILAyE | ZEE/AA—+
Screw (Slotted raised countersunk M3 — 5) Steel Nickel plated , Black trivalent chromate
5
7
2
3 & p7
6
. 4 o
S & p7
~
AN
® %)
(2 e
1
4
r—REE FCS - - 125
Product Number
W D Bis
Color Code
W, D T FIBE B / Dimension limit range
W D
75~399 601~1000
mmfa/Title A —
TAKACHI| B%XEHshFEMTE 1 S (&
ik (BUFEXKRED) / Color Type (End product number]) FV—YARRIIR <J |
05 / Code INAIL / Panel JL—.Ls / Frame 3d—7— / Corner _ TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CUSTOM DIMENSIONS BOX R/ Soale
GSS < )LIN— / Silver < )LIN— / Silver SAR5L— / Light gray 7K 58/ Approved 18] /Checked H[X]/Created R /Product number >
BSS < JLIN— / Silver < JLiN— / Silver 75v% / Black FCSO-[1-12500 (W75~ 399mm. D601~ 1000mm)
BBS 2 JLsN— / Silver 7397 / Black 75v% / Black iR LS 0) iR ’ .
e 55975 / Black 5555 / Black 5597 / Black {ERLE/Date  2019/12/10 /




JL—.L148] / Framel side

TL—L348] / Frame3 side

W (75~399)

D (601~1000)

TL—L248] / Frame2 side

AA(1:8)

INAAFFINRILE RN T% / Slide panel Max dim. W-40
B~ i% / Max dim. W-46

REIEH/ARILETI~TiE / Screwed panel Max dim. W-46

JL—L4f8] / Frame4 side

125.4

B-B(1:8)

B#~t% / Max dim. 119

INFAFHINKILERST X / Slide panel Max dim. D-40
E%h~Ti% / Max dim. D-46

|

88.2

RUEIEDNNRILEZN~TiE / Screwed panel Max dim. D-46

C : ZL—LHLKE / Frame cross—section

&5

+vkL—JL / Nut rail

AIMFyhRiE

RFTVA T av i ASARF Vb FZ-3 EANBELAHEFT,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted

HASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title

) —H AL XRYI R
CUSTOM DIMENSIONS BOX

S
S

A& 58/ Approved

iR

18X /Checked

FHt

#X]/Created

hiR

B F /Product number

FCSO-0O-1250 (W75~399mm, D601~ 1000mm)

RE/Scale
1:8

{ERX B /Date

2019/12/10

2 /7




18.1

18.1

8.7

8.7

4.05

4.5

1.2

1.65

2.5

19.7

13.7

8.2

1.8

5.7

13.7
22.7

14.7

14.7

1244

4-M4

FwkL—JL / Nut rail

2-M3

W-46

JL—.Is1 / Framel

&ﬂ
N~
o
o
.
mmfa/Title A
TAKACHI| BHXSHEHFEHRIE IL— L1 O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame1
B/ Approved %X /Checked HIX]/Created FIZF /Product number RE/Scale
H125.4 — W75~ 399 1:4
iR 520 iR 3, 7

{ERLH /Date 2019/12/10




L —.,2 / Frame2

&ﬂ
.
mmfa/Title A
TAKACHI| BHXSHEHFEHRIE IL—L12 O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame2
B/ Approved %X /Checked HIX]/Created FIZF /Product number RE/Scale
H125.4 — W75~ 399 1:4
iR 520 iR 47

{ERLH /Date 2019/12/10




18.1

18.1

8.7

8.7
4.5

4.05

1.2

1.65

2.5

19.7

13.7

4.7

8.2 ~

1.8

5.7

14.7

13.7
22.7

124.4

4-M4

FwkL—JL / Nut ralil

<

4-M3 5

D-46

106.7

JL—.L3 / Frame3

5
mmfa/Title A —
TAKACHI| BXSHEINFEHIE IL—L3 O L]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3
733/ Approved 18] /Checked H[X]/Created FIZF /Product number RE/Scale
H125.4 — D601~ 1000 :4
iR Ea T iR 5 /7
{ER B /Date 2019/12/10




JL—.L\4 / Frame4d

mmfa/Title
TAKACHI| BXEHANFEMIE JL—1sd O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame4
7K 58/ Approved 18X /Checked H[X/Created R /Product number RE/Scale
H125.4 - D601~ 1000 14
iR At iR 6/ 7

{ERX B /Date

2019/12/10




INAAFHI8A )L / Slide panel

L1 &H /IR JL / Screwed panel

B~ti% / Max dim. W-40

B#TiE / Max dim. D-40

JNARJLERTE / Panel Frontside

BHh~ti% / Max dim. W-46

BH#~tiE / Max dim. D-46

JNAAJLERME / Panel Frontside

REES—HA

Surface protective film side

fREES — A

Surface protective film side

W-28.1

1.5
o
<
o
I\ JLEME / Panel Backside
4-R6
15 W-28.5 8-24.2
o
™~
<
0
o
BN
(]
[Te]
™~
<
JNFRJLEM / Panel Backside 13.75 13.75
f%/Title A —1
TAKACHI| #RXEtahFEMTE IFIL O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
A& ER/Approved 18X /Checked #X]/Created B F /Product number RE/Scale
W75~399 - D601~1000 18
hif 5 iR .

{ERX B /Date

2019/12/10




	FCS□-□-125(W75～399mm、D601～1000mm)
	FCS□-□-125(W75～399mm、D601～1000mm)2
	FCS□-□-125(W75～399mm、D601～1000mm)3
	FCS□-□-125(W75～399mm、D601～1000mm)4
	FCS□-□-125(W75～399mm、D601～1000mm)5
	FCS□-□-125(W75～399mm、D601～1000mm)6
	FCS□-□-125(W75～399mm、D601～1000mm)7

